



St. Louis County, Minnesota

Date of Report: 9/21/2025 1:53:58 AM

**General Details** 

 Parcel ID:
 280-0015-00866

 Document:
 Torrens - 996396

 Document Date:
 03/28/2018

**Legal Description Details** 

Plat Name: CANOSIA

Section Township Range Lot Block

30 51 15 - -

Description: THAT PART OF LOT 1 LY ING BETWEEN TWO LINES ONE 1133 FT E OF W LINE AND THE OTHER 129 FT W

OF E LINE

Taxpayer Details

Taxpayer Name MURRAY SCOTT J & LAUREL L

and Address: 5854 N PIKE LAKE RD

DULUTH MN 55811

**Owner Details** 

 Owner Name
 MURRAY LAUREL L

 Owner Name
 MURRAY SCOTT J

**Payable 2025 Tax Summary** 

2025 - Net Tax \$7,567.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$7,596.00

**Current Tax Due (as of 9/20/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,798.00	2025 - 2nd Half Tax	\$3,798.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$3,798.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$3,798.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$3,798.00	2025 - Total Due	\$3,798.00	

**Parcel Details** 

Property Address: 5854 N PIKE LAKE RD, DULUTH MN

School District: 704

Tax Increment District: -

Property/Homesteader: MURRAY, LAUREL L & SCOTT J

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
201	1 - Owner Homestead (100.00% total)	\$212,700	\$387,500	\$600,200	\$0	\$0	-			
207	0 - Non Homestead	\$53,600	\$97,400	\$151,000	\$0	\$0	-			
	Total:	\$266,300	\$484,900	\$751,200	\$0	\$0	8141			





St. Louis County, Minnesota

Date of Report: 9/21/2025 1:53:58 AM

**Land Details** 

**Deeded Acres:** 2.10 Waterfront: PIKE Water Front Feet: 127.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: P - PUBLIC 0.00

Lot Width: Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

		Improvem	ent 1 Deta	ails (RESIDEN	CE)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	1985	1,47	72	1,472	AVG Quality / 1260 Ft <sup>2</sup>	RAM - RAMBL/RNCH
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	2	36	72	CANTILEV	'ER
BAS	1	8	22	176	WALKOUT BAS	SEMENT
BAS	1	34	36	1,224	WALKOUT BAS	SEMENT
DK	1	0	0	206	PIERS AND FO	OTINGS
DK	1	0	0	408	PIERS AND FO	OTINGS
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
0.05.04.7110	0.050000	40			4	ALD COME DECEMBE

2.25 BATHS C&AIR\_COND, PROPANE

	improvement 2 Details (GST 11003L)								
ı	Improvement Type	Year Built	Main Floor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
	HOUSE	1980	816	816	-	1S - 1 STORY			
	Segment	Story	Width Lend	ıth Area	Foundat	ion			

HOUSE 1980		81	0	816	- 15	- 1510KY	
	Segment Story		Width	Length	Area	Foundation	
	BAS	1	8	10	80	PIERS AND FOOTINGS	
	BAS	1	23	32	736	PIERS AND FOOTINGS	
	DK	1	6	10	60	PIERS AND FOOTINGS	
	DK	1	6	18	108	PIERS AND FOOTINGS	
	DK	1	11	15	165	PIERS AND FOOTINGS	
_							

**Bath Count Bedroom Count Room Count Fireplace Count HVAC** 0.75 BATH 1 BEDROOM CENTRAL, GAS

### Improvement 3 Details (DETACHED)

-	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	GARAGE	2001	1,40	04	1,404	-	DETACHED
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	26	24	624	-	
	WIG	1	26	30	780	-	

#### Improvement 4 Details (ATTACHED)

ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
	GARAGE	1985	576	6	576	-	ATTACHED
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	24	24	576	FOUNDAT	ION





St. Louis County, Minnesota

Date of Report: 9/21/2025 1:53:58 AM

		•	ment 5 Detai	•	•		_		
Improvement Ty				oss Area Ft <sup>2</sup>	Basei	ment Finish	S	tyle Code &	
GARAGE	2021	84	-	840		-		DETACHE	D
Segme			Length	Area		Founda	ation		
BAS	1	28	30	840		-			
			ent 6 Details	(SLAB PA	TIO)				
Improvement Ty	pe Year Built			oss Area Ft <sup>2</sup>	Basei	ment Finish		tyle Code &	
	0	36	-	360		-		PLN - PLAIN	SLAB
Segme			Length	Area		Founda	ation		
BAS	0	10	36	360		-			
		Sales Reported	to the St. Lo	ouis County	y Auditor				
Sa	ale Date		Purchase Pr	rice		CR	V Numl	oer	
0	3/2018		\$589,000				225474		
1	0/1999		\$265,000				130659		
		A	ssessment H	History					
	Class					Def		ef	
Year	Code (Legend)	Land EMV	Bldg EMV		「otal ∃MV	Land EMV	BI: EN		et Tax pacity
	201	\$212,700	\$369,20		81,900	\$0	\$		-
2024 Payable 2025	207	\$53,600	\$92,700		46,300	\$0	\$		_
2024 1 ayabic 2025	Total	\$266,300	\$461,90	0 \$7:	28,200	\$0	\$	0 7.8	353.00
	201	\$192,800	\$320,10		12,900	\$0	\$		_
2022 Daveble 2024	207	\$48,600	\$80,400		29,000	\$0	\$		_
2023 Payable 2024	Total		\$400,50		41,900	\$0	\$		74.00
		' '				<u> </u>			74.00
	201	\$192,000	\$320,10		12,100	\$0	\$		
2022 Payable 2023	207	\$48,400	\$80,400		28,800	\$0	\$		-
	Total	\$240,400	\$400,50		40,900	\$0	\$	0 6,7	761.00
	201	\$177,400	\$291,60		69,000	\$0	\$		-
2021 Payable 2022	207	\$44,700	\$76,300	) \$1:	21,000	\$0	\$	0	
	Total	\$222,100	\$367,90	0 \$59	90,000	\$0	\$	0 6,2	203.00
		1	Γax Detail Hi	istory					
Tax Year	Tax	Special Assessments	Total Tax 8 Special Assessmer		e Land MV	Taxable Bui MV	lding	Total Taxal	ble M\
2024	\$6,899.00	\$25.00	\$6,924.00	\$2	41,400	\$400,50	0	\$641,9	00
2023	\$7,245.00	\$25.00	\$7,270.00	\$2	40,400	\$400,50	0	\$640,9	00
2022	\$7,479.00	\$25.00	\$7,504.00	\$2	22,100	\$367,90	0	\$590,0	00





St. Louis County, Minnesota

Date of Report: 9/21/2025 1:53:58 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.